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< 38,970
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04 D12t Z2XEES 31,158 29,491 1,667
O2II2LIHRH 31,158
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NGB MELSAY L= H]
5,000,000 5,000
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206 M= Hl 3,500 3,000 500
01 M= 4l 3,500 3,000 500
OFsrzagAs H& M 70,000& 504 3,500
301 et d = 1,640 6,442 N4,802
10 HALAHIE& 2 1,640 2,480 A B840
OSIttEUAMZ Y FAT 24
,000& 30 *43| 840
OSoitetd BHe & 2othal 4R 2t4l
2,000& *200H *23] 800
307 glz2+ol & 18,000 0 18,000
02 QlZtFANE X 18,000 0 18,000
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02 RIZHEAME R 72,000 80,000 A 8,000
ORIST XIGEA0/ HZII=XA (a2 Jls
gad3) 80,000, 0003 x90%<& 2> 72,000
08 OIXtEE 3 270,000 300,000 A 30,000
o243 NE o223 270,000
20138 & 5,000,000,000& *3/100%14 150,000
20128 & 4,000,000,000& *3/100*14 120,000
HEANT L SAAI 243 4,500,244 4,439,745 60,499
& 1,170,000
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01 At 22l 105,240 86,400 18,840
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70,0003 x8H x4 3] 2,240
~HSAE AN AAL =5 400,000 23 800
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400,000 *10CH 73] 28,000
SHE(H, F=4) MSANY HEEN HA 2
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=JIAH - BIIAEZ S22l 5,000,000 5,000
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01 At 22l 6,520 8,700 A 2,180
O1.4et=2H| 4,000
-S3S2Z2AY LS 4,000,000& 4,000
O3.2d=¢ 840
-S3S2Z2AMY FHARZE AY FAH=F
70,0003 «128 *13] 840
O5.2&Hl 1,680
S22 ZAEFA 422X 24
7,000 «2H 102 «123] 1,680
202 o4dl 2,160 3,000 A 840
01 = LH o4 1l 2,160 3,000 A 840
OZ2S22AY HEW=R 32 FA0H
60,0003 *2H 32 63| 2,160

_11_




2N
X ZH -
L= B

el

AR S D
22X =X SV(ME=X/=S)
SN

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
206 M= Hl 6,000 6,000 0
01 =8l 6,000 6,000 0
OBZT22AMY WEPY (4, W PP, M2
25 8) 100, 000& *30JH A *23| 6,000
ZELIIGEAMEN 2I(BX) 420,000 367,500 52,500
< 180,000
Al 240,000
307 glz2tol & 420,000 367,500 52,500
< 180,000
Al 240,000
02 RIZHE A E X 420,000 367,500 52,500
OBAIILQAE AR 28l 420,000,0008 420,000
< 180,000
Al 240,000
ANGAARNEDESA (EX) 106,664 25,200 81,464
< 32,000
Al 74,664
301 LetE A2 106,664 25,200 81,464
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